$$ $ B_%_a ﬁ g\L}/? % Negatieve exponenten van 10

Naam: Datum: Score:
1072 = ~1x107? =
1079 = 3% 10 =
1002 = 6x 10 =
811,5+10° = 471,3 x 1002 =
567,9+10* = 1002 =
1073 = 1 x 1003 =
221,9+ 10° = 1009 =
9x 100D = g % 10 =
1070 = 1002 =
611,1+ 107 = 3x10=
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%% @ 8_8_8 ﬁ Q‘I—’?} % Negatieve exponenten van 10

Naam: Datum: Score:
1072 = 0.01 ~1x 107 = -0.01
107 = 0.001 3 %10 = 30
1072 = 0.01 6 % 10 = 60
811,5+ 107 = 8.115 471,3 x 1072 =4.713
567,9+ 10> = 5.679 107% = 0.01
107% = 0.001 1 x 107 = 0.001
221,9+10% =2.219 107 = 0.0001
9x 107" =0.9 8 x 10 = 80
1077 =0.1 1072 = 0.01
611,1+ 10" = 611100 3% 10 = 30
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